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Question

Marking details

Marks available

AO1

AO2

AO3

Total

Maths

Prac

3 | (a)

34

1

(b)

award (2) for all three bars plotted correctly
award (1) for any two bars plotted correctly

tolerance %% square

() | @

8400 (2)

if incorrect award (1) for correct substitution i.e.
100 x 4.2 x 20

no ecf possible

(ii)

120 (2)

if incorrect award (1) for clear indication that formula contains
one Mg, one S and four O atoms e.g. 24 + 32 + (4 x 16)

Question 3 total
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Marks available

Question Wirking details AO1 | AOZ | AO3 | Total | Maths | Prac
2 | (@ |0 c (1)
neutral answer - hydrogen
it contains one type of atom only (1) 2 2
(i) D 1 1
(iii)
1 1
b) | () 525 1 1 1
(i) 50 2)
. « 32
if answer incorrect award (1) for o 2 2 o
(c) 2P + 3H; — 2PHs 1 1
Question 2 total 0 6 2 8 3 0
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Question

Marking details

Marks available

AO1

AO2

AO3 | Total

Maths

Prac

(@)

beta-carotene, chlorophyll and betalain

and

each one has only one spot on the chromatogram

(b)

award (1) for each correct answer

chlorophyll is not present in carrot, tomato or beetroot extracts ¢\

beta-carotene is present in carrot extract but not present in
tomato extract

both beta-carotene and betalain are present in beetroot extract | a\

betalain is present in tomato extract but not present in carrot extract

both carrot and beetroot extracts contain a pigment other than
beta-carotene, chlorophyll and betalain

max (1) if three boxes ticked
0 if four or more boxes ticked

(c)

055 (2)

” . 4.4
if answer incorrect award (1) for =

(d)

one pigment in beetroot extract is insoluble (in the solvent used)

Question 3 total
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Foundation Tier only questions

Question

Marking details

Marks available

AO1

AO2

AO3

Total

Maths

Prac

1 (a)

(C)ADBE

award (2) for all correct
award (1) for 2 or 3 in correct positions

award (1) for any of following

e line drawn (on chromatography paper) using pen
¢ line should be drawn using pencil
e don’tuse apen

award (1) for any of following
e water added covers the sample

e water level should be below the line
e don’t cover the sample

(ii)

0.7 (2

if answer incorrect award (1) for % or0.2

Question 1 total

© WJEC CBAC Ltd.



